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Please check that this question paper contains 11 printed pages + 2 Maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate. :

Please check that this question paper contains 30 questions.

Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 am, the students will read the
question paper only and will not write any answer on the answer-book during this
period.
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General Instructions :

(i) The question paper has 30 questions in all. All questions are

compulsory.
(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are very short answer

questions. Each question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 mark questions.

Answer of these questions should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5 mark questions.

Answer of these questions should not exceed 100 words each.

(vi) Question number 29 to 30 are map questions of 3 marks each
from History and Geography both. After completion, attach

the map inside your answer-book.
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Why had the Indian Government 'put barrier to foreign -

trade and foreign investment after independence ? State any

one reason.

fepeft e it srest srafeurfs o forg I AR 1 FERER B &
9 o FT STHT ST 8 7

Why is the ‘least cost’ known as decisipn making factor for ideal
location of an industry? :

TSIk g O T AR ] 7
What is meant by a ‘political party’?

et 1 omE wied T o RN @ Yeke-fag (@) e
=7
Which logo would you like to see for purchasing electrical

goods ?

ST § TSR TiTeA hl T fireht o oft?
What was the main role of ‘FEDICOR’ organisation in

Bolivia ?

A g R ?

What is the meaning of ‘investment’?

32/1/2 3



7. 9 Feeh Terfs @a % v foks wE RER 3 ot g e wm S
AT T TEET T SR hl STl © A1 I8 T ok WA shid € I
87 " m o |

If all the decisions of a political party are made by a single family
and all other members are neglected, than what challenge 1s being
faced by that party ?

8. U H FHIE wifd ¥ TeHifae IR w9 uigwd # gam yq@
SIS T ATY 1
o

Tt fiees e fogaam o fore fore wepm Suarht o’

What was the major change that occurred in the political and

constitutional senerio due to French Revolution in Europe ?
Or

How was the maritime silk route useful for Vietnam ?

9., WEIAT HIEAT HT 27 W X Sgael ST I I AT 87 T
i) 142=3

What is a multi-party system ? Why has India adopted a multi-
party system ? Explain.

10. YEU § ‘srEedi srerer HHT FT Ue T o1 7 ¥ i | 3
Why did the Non-Cooperaﬁon Movement gradually slow down in

the cities? Explain. p
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11.

12.

15

14.

15.
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“Lack of internal democracy within parties is the major challenge

to political parties all over the world.” Analyse the statement.

= uifRufE & avls A, Rel aer SR 90 @ w9
Fd B o b , i
Describe the conditions in which markets do not work in a fair

manner. s

“FN renfE 9% N WeERd Hd B KU % TN H deh
g | ' | 3x1=3

“Agriculture gives boost to the industrial sector.” Support the
statement with arguments.

BT < a1 § gAR SR fohg WehR quta: giafda 8t T 87 3eTeon |fea
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In recent years how our markets have been transformed? Explain

with examples.

“HTRdd IMTEA ST YA AU O Yk guEt 217 hYA

NN N
Id 38Uy | 3

“Democracy is more effective than its other alternatives.” Justify

the statement.
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17.

18.

19

Why is it necessary for the banks and cooperative societies to %

increase their lending facilities in rural areas? Explain.

m%ﬁaﬁWQﬂaﬁmaﬁqW,ﬁﬁz@q%mwﬁﬁ
& e it s R
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Describe the events of French Revolution which had influenced the
people belonging to other parts of Europe. v

| Or
Describe the major protest érupted in Saigon Native Girls School in
1926, in Vietnam.

“m'mwa@@mmﬁﬁﬁmmﬁ
W@ﬁl”mwﬁwml |

“The Congress was reluctant to include the demands of
industrial workers in its programme of struggle.” Analyse the

reasons.

Waﬁwﬁﬁéﬁ%&waﬁﬁ%m@wmﬂ%%{qm%’?
Ty |

How is the mining activity injurious to the health of the miners and

environment? Explain.
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21.

22;

23.

24.

33 ? 3x1=3

In the present day energy crisis what steps will you like to take for
saving energy?

T2 3 GohieReeT S wfeen a1 i Bifv 5

AYAT

ﬁwﬁw@ﬁﬁmweqﬁné S5t it Thg- m TRy =

ol Hifr |
Describe the process of Unification of Italy.
Or

Describe the ‘Rat Hunt’ activity introduced by the French in
Vietnam.

a@—a@wﬁﬁmmwmﬁwﬁqwﬁaw%?w
IR T hIR 5%1=5

How do the large companies manipulate the market? Explain with

examples.

mfaﬁmmﬁﬁ%?mﬁﬁmaﬁw%&mﬁxww
e & 7 Tqw i | _ 2+3=5

Why is energy needed? How can we conserve energy resources?
Explain. :

mwﬁmmwmwgmwﬁ%?m
Fied wE Hifs| 5x1=5
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25:

26.

27.

28.

29.

How do pressure groups and movement exerts influence on

politics? Explain with examples.

“‘TaTe s WIS a8 T 8, 39 AN I8 Hegd HH T @ {6 9 Th
ST ¥ 3 ¥ 38 e i gfE Al | 5
“Nationalism spreads when people begin to believe that they are all

part of the same nation.” Suppert the statement.

TR 291 & Yo afae ¥ faaor S g FE A - SApiiE IR
afrfofen shTeott =h1 fereeroor shifs) 5x1=5

Analyse the physiographic and economic factors that have
influenced the distribution pattern of the railway network in our
country. '

S 3 s it ey safn Tk % wny-gny Uy & o R
Bt 7 IR Higd T I | ~ 5%1=5

How are deposits with the banks beneficial for individual as well as
for the nation? Explain with examples.

Terifereh gt % el afs g@ st o o shifeT 5x1=5

Describe any five major functions of political parties.

i @& A, B 3% C 9Ra % TsHifden Wan-ates | 3iferd fory U B
wa@ﬁﬁmﬁamﬁmﬁmaﬁtmwm'
s W i T et w At : 1+1+1=3

i

32/1/2 ' 8
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C. 9% T &l =it sl aTH saaee & feg framt 3 gad fya)

Three features A, B and C are marked in the political outline map
of India. Identify these features with the help of the following
information and write their correct names on the lines marked on

the map :

A. The place where the Indian National Congress Session was
held in 1920.

B. The city where the Jallianwala Bagh incident occurred.

C. The place where the peasants struggled agalnst the indigo

plantation system.

Fe ﬁwﬁwf@ammg%wmuﬁwwaamwnga

TH WY

(29.1) 38 M 1 9W fafey, ST faamsr 1920 § wredw wEiE
UG T SIS gar |
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Note: The following questions are for the Visually Impaired
Candidates only; in lieu of Q. No. 29 :

(29.1) Name the place where the Indlan National Congress
Session was held in September 1920.

(29.2) In which city J allianwala Bagh incident occurred?

(29.3) Where the peasants struggled against the indigo plantation

system?

30. (30.1) m%sﬁqnqumﬁﬁeﬁ%@-uﬁ%ﬁﬁaaWAﬁr{B
| sifrd T Tu ¥ 3 o S vewH Fefarad ST
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(30.2) wmﬁﬂﬁﬁmﬁf\@aﬁmzﬂ?mm%@
() iR e shenfieRt ureh
(30.1) On the given political outline map of India, two features

A and B are marked. Identify these features with the help

of the following information :
A. Iron-ore mines

B. Terminal station of North-South Corridor
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(30.2) On the same map locate and label the following :

(1) Gandhinagar Software Technology Park

A : PRy e gf i whaRie R s dE 30 5
T WE? . '
(30.1) 'ﬁg{a Fﬁ%—m@ﬁ o Tt 7 o 7 |
(30.2) Ye-ufzem Tierm % et RR ¥ Rw w1 W R
(30.3) TiehR AiweR ety arh forg Te & o 27

Note: The follovﬁng questions .are for the Visually Impaired
Candidates only; in lieu of Question Number 30
(30.1) In which state are Kudremukh iron-ore mines located?
(30.2) Name the eastern terminal station of East-West Corridor.

(30.3) In which state is Gandhinagar Software Technology Park
located? |
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MAP for Q. No. 29
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